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o Please check that this question paper contains 12 printed pages and 2 pages of
maps.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 22 questions.

) Please write down the Serial Number of the question before attempting
it.

o 15 minute time has been allotted to read this question paper. The question paper

will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
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() THTIET 8 13 T STITJITE | Feadh F¥7 3 371 181 379 T T F7 oo SR
¥97 &1 Fedd F97 & I 80 - 100 I T 37k 787 &1 Feq

(vi) F¥7 &I 14 T 20 5 3T0T §97 81 FAF F97 5 3HH BT &1 FedPH F97 H FH
150 9I5) @ 37fyes &7 g1 =nfeu

(vit) 9T T&T 21 3R 22 HHATTAl T TGIT STl T T YA faagarsii § qarea
TIT 81 T 97 5 bl FT 8 1

(viit) 379! ST 7T fooe Tom YR & 3@ HFlFH] 1 IR GrEadl & G 37a99 & |
(ix) 3@ TEFTE & @67 F 78 Rfqer a7 20912 3 3YFIT &1 373wl &1 Sl &1

General Instructions :

(1) There are 22 questions in all.

(i1) All questions are compulsory.

(iti) Marks for each question are indicated against it.

(iv) Question numbers 1 to 7 are very short answer questions carrying 1 mark each. Answer
to each of these questions should not exceed 40 words.

(v) Question number 8 to 13 are short answer questions carrying 3 marks each. Out of

which one question is a value based question. Answer to each of these questions should
not exceed 80 - 100 words.

(vi) Question numbers 14 to 20 are long answer questions carrying 5§ marks each. Answer
to each of these questions should not exceed 150 words.

(vit) Question number 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying § marks each.

(viit) Outline maps of the World and India provided to you must be attached within your
answer book.

(ix) Use of templates or stencils for drawing outline maps is allowed.
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1. HOR ¥ f\d faT o1ua | g ? 1

What is the average sex ratio in the world ?

2. YR ¥ IS HEA H AN UTHIO &5 ¥ TRIF &5 ! T Fl hd © 2 1

Why do people migrate in large number from rural to urban areas in India ?

3. TR ST &5 i fohdl 7 THE TS 1 Seei@ Hif | p41p=1

Mention any two major problems of Ruhr-industrial region.

4. AR GG fhg ghR fordll <91 % snfefer foshmd 1 g=reh 2 2 1

How is the favourable balance of trade an indicator of economic development of
a country ?

5. 2003, YRA TR S AL Fall AT 1 T&F o9 16 ? 1

What is the main thrust of the National Youth Policy of Government of India,
2003 ?

6. T faehrm &f fa=REm &l T HifST | 1

Define the concept of human development.
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£ 1

IR H o<t 7 B Uiy iR e Sl o 1T h1 Ueh ShRU1 T SIS |

Explain one reason for the import of petroleum and its products in large

quantities in India.

TG i Too! AR alRfara amior afadl § o T Sifsu |

3x1=3

Differentiate between ‘Hamletted’ and Dispersed’ rural settlements of India.

I < I AfeTeRt T STEAIA SifeT SR 39 e fou T geHl % SW fafew : 3x1=3
fuferam et 1 wRrgiat o STAR feravur
TEga TR 1950 | 1970 o T9Teh o Wed | 2000 ok Wed
I 23 30 58
o 32 69 206
A UG [ SR 16 36 79
Sferoft sTafient 8 17 43
STHIchT 3 8 46
s feran 2 2 6
faea 9 84 162 438
T : www. citypopulation-de/world. html
(9.1) < TRIgIGl < AW fafaw S 7= "ergrdl &f o # fufaas 7Rl <t gen o

a9 ¥ g5 T ¢ |

(9.2) 39 39 gfg T & T HROT F1 <7 2

(9.3) ‘B’ TR &1 3 fafEn |



Study the table given below and answer the questions that follow :

Continent - wise Distribution of Million Cities

Continent Early 1950 Mid 1970s Mid 2000
Europe 23 30 58
Asia 32 69 206
i;rili ca;d Central 16 36 79
South America 8 17 43
Africa 3 8 46
Australia 2 2 6
World Total 84 162 438

Source : wwuw. citypopulation.de/world. html

(9.1) Name the two continents which have shown lowest growth rate of million
cities as compared to others.

(9.2) What reasons will you assign for this growth rate ?

(9.3) Give the meaning of a ‘mega city’.

e : Frafafea av= shae giearTtid udenteit o foe w9 9T 9 & T\ W
%

9.1) ‘fafaaa’ TR &1 e fafay |
(9.2) TR Al i fhl o THEART I IeeT@ HIFT |
(9.3) = & T B TR & W fafEu |

Note : The following questions are for the Visually Impaired
Candidates only; in lieu of No. 9 :

(9.1) Give the meaning of ‘million city’.
(9.2) Mention any two problems of urban settlements.

(9.3) Name two mega cities of China.
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" ure o foTT gehfa o el o6t SRt SR 3% wwe A=< Suarft 81 A qedl 3
%l T I Sl Jhid & ITRRI skl Fdd AU &Y H STAN HH § HIQ X Hehd

g

“The knowledge and understanding of the laws of nature are extremely valuable

to humankind”. Explain the values that can help to use the gifts of nature in a
sustainable manner.

TR W Sia-Foll skt AT o AT ST T HifST | 3

Explain the significance of bio-energy to humankind in India.

T Y31 o ST fel H IR fohT 1T, STot H9R0 G e hrdshH &l Theldl bl & 3

HifSTT |

Examine the success of watershed management programme implemented in
Jhabua district of Madhya Pradesh.

T fou U 3@ &7 31 ifey IR 39 9 feu U yvHi o S fafew @ 3x1=3

(13.1) 3@ ¥ fe@m U 359 TIF &1 gg=He 3R 39t 9M fafen |
(13.2) 39 999 & fau omqfd & ot wEen iR ATHS @9 &5 6 9™
fafaw |

(13.3) 39 G943 % SIoMYfd o1 ©Id HE-T1 T 2




Study the diagram given below and answer the questions that follow :

TR
RRERK KR 752
RRRIESEETE
o ‘&?’:’:’:’:."\t
&K

"« Manganese
% Steel Plant

& Limestone
Birmitrapur B4 Coal

%< Iron Ore

iy ¢ Gorumahisani
Kutupit

Bonaigarh »k

(13.1) Identify and name the steel plant shown in the diagram.

(13.2) Name the mining areas which supply coal and manganese to this
plant.

(13.3) Which is the source of water supply to this plant ?

e frafateaa wv saa gieanfua sttt & fau uyoa 9= 13 &
WW%

13.1) 39 T &1 AW fafe, sl g seum |+ feoa 7

(13.2) g IR 91T &M B Yo e ATt fohgl &1 hed el ol Seeld ity |

(13.3) g iR TTTd ST & e & fohgi ol fagail o1 Seeid T |

Note: The following questions are for the Visually Impaired
Candidates only; in lieu of Q.No. 13 :

(13.1) Name the state in which Durgapur steel plant is located.
(13.2) Mention any two raw materials used in the iron and steel industry.

(13.3) Give any two points of significance of iron and steel industry.
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14. foga & Qo iy’ =6t foredl ai=r Tl w1 oo sHifew | 5

Describe any five characteristics of ‘plantation agriculture’ in the world.

15. fova O 'H=r 9aeti’ &1 el T ST | 5

Explain the importance of ‘communication services’ in the world.

16. HOR H SHHEA Yo i GHIfed 3 a1t fohl a1 ¢ STgame’ 1R =i <1 Scuam™

] hi ST hifod | 3+2=5

Explain any three ‘push’ and any two ‘pull’ factors that influence the migration
of population in the world.

17. ‘UR-FHAfeam Yaunt &1 FHAel S onfele gmer el S ¥ 1’ 39 HUF hi ST

o

3SR Hfgd gfte hifsre | 5x1=5

‘Trans - Canadian Railway line is considered as the economic artery of Canada.’
Support the statement with suitable examples.

18. ‘‘fawfeq <"’ den *‘ wfra gft &1 frfietor’” IR iy &t TR goem €1
T THEST % T o U U RT3 Seh! ST Hifslu | 2+3=5

‘Fragmentation of land holdings’ and ‘degradation of cultivable land’ are the
serious problems of Indian agriculture. Suggest and explain measures to
overcome these problems.

19. 9RA § Yo & afefer 3R graTfsier IRomdl i 9@ Hifsu | 214+21%=5

Examine the economic and social consequences of migration in India.
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20, YRd o 3Td:¥AATT STHRT TR0 bl YfHHT ol W@ I 3Tl ST
faed, IREed &1 T Heaqul faen #=ii €, T ST | 2+3=5

Examine the role of Inland Waterways Authority of India. Explain why inland
water transport is an important mode of transport.

21. GER F TeHiaeh @ AHES (53 13 W) H fe@m 1w gi= Himifess @efon A, B, C,
D 3R E &I 989 HITSC AR 37 &l TH 9 <7 T SR i geg 9 396 T4
Gl T3 @l W) fafat . 5x1=5

(A) 3T § o 92 &hel a1all <97 |

(B) U HfY *1 &F |

(C) YHE FY&l T |

(WY
[

D) AU 91 9« |

(E) WM TRI

Identify the five Geographical features shown on the political outline map
(on page 13) of the World as A, B, C, D and E and write their correct names on
the lines marked near them with the help of following information :

(A) The Country with largest area in Africa.
(B) An area of dairy farming

(C) A major sea port

(D) Aninternational airport

(E) A mega city
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(21.1)

(21.2)

(21.3)

(21.4)

(21.5)

Note :

(21.1)

(21.2)

(21.3)

(21.4)

(21.5)

frefataa uo e gheenfua wenfolai & fau wv= 9@ 21 &
AW :

THIRT H Hod 3Tf¥eh TGS 9Tt <91 k1 7 fafEu |

IR AR § <8 i &t 1 9 fafe

sTeeferen & fordl T 9@ Tt a9 1 9 fafaw

c_n

gfeqor sTfkent o fordll Tk ST=Riega oy o< o1 1w fafaT |

A9 & fohdl Tk AR k1 9 fotfEy |

The following questions are for the Visually Impaired
Candidates only; in lieu of Q.No. 21 :

Name the country with largest population in Africa.
Name the area of dairy farming in North America.
Name any major seaport of Australia.

Name any international airport in South America.

Name any mega city of Europe.
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22. 9RA & QU T e Y@-aHta (T8 15 W) H FAfaftad daron s suge
feri 9 <9Iz R 37& W fafg 5x1=5

() HI9 HY A arel T |

(I) Hod feren TTHT0 SHEEA o ST aTel T3 |

(I11) Tfeoft T o W@ dien & |

IV) BETe H feo Tehiha wiig iR sumd Ha |

fa)

(V) 39| ¥ T oTisdity arua |

Locate and label the following features with appropriate symbols on the given
outline political map (on page 15) of India :

(I) The state with lowest density of population.

(I) The state with highest percentage of rural population.

(ITII) A major copper mining area in Southern Rajasthan.

(IV) The integrated iron and steel plant located in Chhattisgarh.

(V) The international airport located in Assam.

64/2 11 P.T.O.



64/2

(22.1)

(22.2)

(22.3)

(22.4)

(22.5)

Note :

(22.1)

(22.2)

(22.3)

(22.4)

(22.5)

frefataa uo e gieafua wenfofa & fau wv= g 22 &
AW :

&Thel i gie ¥ 9RA & Tl Bl T &1 94 fafau |

TR & o9 ATy UTH0 FTHHEI 91t 19 1 9 fafgu |

ereeE § Tl Te die @1 &5 &1 9 fafgu

Tod T3 § feord forefl Ten gq@ gt o1&t 32 o k1 I faf@e |

3THH o AU 91 I9 i AW fafE |

A

The following questions are for the Visually Impaired
Candidates only; in lieu of Q.No. 22 :

Name the smallest state of India in respect of area.

Name the state of India having largest rural population.

Name any copper mining area in Rajasthan.

Name any major cotton textile industrial centre in Gujarat State.

Name the international airport of Assam.

12
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